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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / 'E"E'lﬂiﬂgﬁﬁiﬁ foer Ft fadwar Fafafla # 9 3‘\& @’sib_{ Ty aft %
1. Distractibility / FE¥cfaaferdt

2. Hyperactivity / Sffagfoaar

3. Hallucinations / AfAYH

4. Impulsivity / FIIACT

Correct Answer :-

« Hallucinations / Afay™d

2) Teachers must constantly deal with changing standards and in teaching profession. /ﬁT&ﬁﬁﬁ , Rrgor sgaama

T TR Sad AT 3R & 1Y SId FHRAT AT
1. Syllabus / TT&d-faavur

2. Curriculum / TTGI=A0

3. Assessment / 3fiper

4. Exam system / GRI&[T Tl

Correct Answer :-

e Curriculum /qro‘mnf

3) Piaget believed that language develops in a child as a result of: / TS &1 AT o7 fop =3 & HToT 1 Ay, et & aRumeaeg garg:
1. Cognitive development /WW

2. Egocentric development / 3D % famr

3. Behavioural development / Wﬁﬁ[ﬂ

4, Environmental development /qufawﬁqﬁm

Correct Answer :-

- Cognitive development / ST fa@m

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well in her academics. Which of the teaching method will
give more productive results for Mary? / B} 9gd fFR1ft § | 98 Ue SRTURUT WRaHTead Tda! § AT ag Rign F Tdiwee 3w =16t ureit
1 38 & forg o1 ot Rraror Ay et arvwe gifte

1. Excursions /YU TT 3(THIG

2. Brainstorming methods /ﬁmm

3. Grade acceleration /‘BITS"?{@

4. Individualized instrucﬁons/aﬂmmﬁm

Correct Answer :-

o Excursions /YHUT T 3{THIG

5) The occurrence of is an indication of stagnation in the learning process. / B} "e, offtrm &Y uftear § RRa1 &1 Uh
HHa g

1. Motivation / SfHTRor

2. Plateau / fRRI® (@EPD
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3. Progression /cmﬁ{
4. Curve /9o (ﬁ)

Correct Answer :-

« Plateaun / RRi® m

6) What is the main objective of teaching in inclusive classrooms? / TR mﬂaﬁﬁuﬁﬁ Edl E’@TG%'Q‘T T
1. Preparing students for job/ BE B AP F ﬁ'fq AR BT

2. Preparing students to pass the examination / ST3 &1 T U H37 F fIT IR T

3. Developing thinking power of students / ST P i i &1 [9brg B

4. Providing notes to students / BEDI :ﬁ-d:ﬂ U T HAT

Correct Answer :-

« Developing thinking power of students / ST 3! i fda &1 fawm S

7) Development does not include changes that happen due to: / faera & § uRad= wfffe qﬁ?’lﬁ' ) g & erRu @ﬁ %
1. Illness / STARY

2. Learning / ity

3. Maturation / URU&dl

4. Aging / geldl

Correct Answer :-

o Tllness /SHARY

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is / TIIT ST XH Gﬁ?ﬂ%_a"' (mmﬂﬂ s
B13¢) & TR & ARG TROT & TG Ueh & -

1. Primary caregiver / IR Ter®
2. Family / gRaR

3. Parents / ATCI-fUaT

4. Teachers and peers / e 3R reft

Correct Answer :-

« Parents / Hrar-firem

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not receive his pocket money for a week. What type of
parenting is this? /S0 U Sl PG aigdl 8, al SHP ATdT-1Uar THe € % 78 7Tad o1 3R 39 7a € & v g & ferg 39
8 frerm | 9 5| YR &1 uTeE-gor 32

1. Behaviourist / Wﬁﬂ
2. Authoritarian / JITATGT
3. Authoritative / 3TTIPBINRG

4. Permissive / W
Correct Answer :-

« Authoritative / STIPHING

10) Children with Autism are: /m (Gﬁﬁmj J Tﬂ%ﬁ'ﬂﬁaﬁ%
1. Unable to make eye contact with others. / Q’ﬂ'\;.%ﬂﬂ[ i T Tudh Hea B s

2. Unable to move about comfortably. / IREY ‘EEF-';I H e
3. Unable to fall asleep. /:ﬂatv‘ﬁfr argef
4. Unable to follow instructions. / FERI &1 U P Hf oy

Correct Answer :-
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« Unable to make eye contact with others. / GERI & Y 3 § GUS B 1§ ey

11) During stage of cognitive development, children acquire knowledge through manipulating objects. / STATH® [cearkd AR F
TRM, T TGN & IR IS 19 W A &1

1. formal operational stage/ Sueies TfraTeTe sawl
2. sensorimotor stage / SIIHICR SGRIT

3. concrete operational stage / T URhATED AR
4. preoperational stage / U;f Tishard® Ew
Correct Answer :-

« sensorimotor stage / AR SfaRT

%2) One way of minimizing the effects of diversity is to allow the children to: /ﬁﬁw?ﬁuuﬁﬁwmﬁmwaﬁmaﬁﬁﬁﬁﬂrﬁ \Hﬂ'ﬂﬁ'a’:ﬂ

1. Win over each other/ Qﬁ-ﬁ'{'ﬁ RS Eﬁﬁmﬁ

2. Operate in separate groups/ S{C-3{CT ?ITLEﬁ T HTH IR B

3. Start small communities of their own/3U= WY & B¢ TG B TE HIA Gl
4. Socialize with each other/ W—ﬁ & Iy Ao aaﬁ @I

Correct Answer :-

« Socialize with each other/ W-ﬁ% 1Y Adend aa'lﬁ ol

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a stimulus becomes a conditioned response to another
associated stimulus. Which one of the following examples satisfies that theory?/ SdT UTIadld & Ffed ST & fear & SR, Uh ST S

fore oo fasiv Wi o wiifshar g Wia SxwmT & foTe T werd wfafsear o= wiredt 81 FPrafifEa § @ o a1 Sarevur 39 Rigia @1 dqe sRare?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ e ® 9] 9o & T STHTRI BT Ydbvd THSIA EEIRERS @ﬁ
FEYTSA T

2. Children maintaining silence when the teacher raises her hand/ e Rigrd BIY 33Id %?ﬁﬁﬂm?@a%l
3. Children expecting to receive medals by the end of a race/ 333 % i P UGH UK Bl Bl HHIG 3@ aral |
4. Children getting star stickers for the right answers asked in class./ P& 1 11??5 Ry HE?[ IR & ﬁfq TR fea? U o3q 91d 9= |

Correct Answer :-

o Children responding to the bell at school to indicate recess and associating it to happiness./ foemer § ©E S0 ) T 3BT BT Udhd THI § 3R 39 @i}’ﬁ
& WY SN &1

14) According to Cognitivism, learning is defined as a change in the learners’ . HRHATHSAIG & YR, St oY Rremif & ]
FaaTd & = § uRyIf fbar ST 21

1. Behaviour / dgR

2. Schemata/ T (IHIHTCT)
3. Mindset / AHRIGAI

4. Morals / Afd®

Correct Answer :-

« Schemata/ Haod Wm‘a)

15) According to Bingham, what does an aptitude test disclose? Aciekd SR, Gif\‘-lqﬁf &1 & T T T 82
1. The tendencies and capacities inherent in the individual's original constitution./ Hlaa & Eﬂﬁlﬂaﬁ fAfea emgang oiR Wﬁf{ﬂ
2. The achievement in different dispositions./ faftra mw 7 Iuafs

3. The readiness to acquire proficiency and exercise ability./gmuﬁﬂ 3R 3T H Pl TR

4. The strength of the different dispositions./ faft= \"iﬂa'lﬁﬁ; grgar &) e

Correct Answer :-

o The readiness to acquire proficiency and exercise ability./ TUTT 3R 3R B B AR
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16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle is evident here? / @'q'é B BT Y AT Rzaran
T U113, a8 et T & swar 81 get B sty Risia e €2

1. Reinforcement / Eﬁa‘ﬁﬂ

2. Spontaneous recovery / ¥dd: Wﬁ’cﬁ

3. Stimulus generalization / 3§ G® ATHRAGROT
4. Stimulus discrimination /G_iﬂ'q?ﬁ fandao

Correct Answer :-

« Stimulus generalization / IEUS AERABROT

17) Carl Jung’s approach for a personality assessment is:/ i siwa- & forg el 9 w1 efRHio %:
1. Judging / Foie

2. Perception CE|

3. Structured / TR

4. Projective / PR

Correct Answer :-

» Projective/ Ll

18) Which of the following is the term used to denote inborn patterns of behavior that are biologically determined? /e Tud ﬁﬂmﬂw%
ST et &1 g=iiA & forg Frafeiae & & fr g &1 ST frar wiran 82

1. Arousal / 3To (URT3vleT)
2. Drives / 3/<IA1G [GIER))

3. Instincts / Wﬁﬂﬁ(m
4, Incentives / eI (Eﬂ@ﬁ:'?ﬁ)

Correct Answer :-

« Instincts / AUGRAT (3Rea)

19) Which of the following is not a part of the process of memory? /ﬁmﬁﬂﬁa i %ﬁquﬁaﬁuﬁmmﬁw qﬁ%’
1. Storing information /STFDHRY W—Eﬂa DAl

2. Encoding information / STHHRI BT Hhdl B0 AT

3. Acting on information / AT IR B BT

4. Retrieving information / STTH@TR! WT ST

Correct Answer :-

« Acting on information / T X B BT

20) What substage of cognitive development is apparent when a baby learns to press the ‘play’ button on the iPad in order to play his favourite nursery
rhyme? / BT [ABTH B I U SU-GRIT WY Bell 2, SId Tb T<AT1 U1 THIIET Pfaar @ & R e W@ aeq
SamT Wi 72

1. Coordination of secondary schemes / ATEATHE TISHTST BT AT
2. Primary circular reactions / PG qdldR m

3. Secondary circular reactions /ATeAfS EHIERS PIRIERIY

4. Tertiary circular reactions / m QPR yfaferans

Correct Answer :-

« Coordination of secondary schemes / HreATte e8]l T J9-ag

21) What age is a child the most impressionable? T mmwmmuwmﬁém%o

1. 1410 18 years/ 14 4 18 T
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2.2to8years /2 8TH
3.9to 12 years /9 ¥ 12 a
4.6to 14 years/ 63 14 TH

Correct Answer :-

- 6to 14 years/ 69 14T

22) CCE is undertaken . /?ﬁ'\‘ﬁ'ﬁc_ SRR fpar \_rﬂ?ﬂ%I
1. Four times a ycar/WHﬁfﬁ?ﬂ? gR

2. Throughout the year / qY R Y

3. Periodically / THI-JHI X

4. Twice a year/waﬁfﬁ?ﬁw

Correct Answer :-

» Throughout the year / qi R

23) Questioning in the classroom : /ﬂ?&nﬁ'uef DA
1. Develops inactivity /TSR fam e Hear % I
2. Clarifies subject matter / fowg qyd @l Y HIdl %I

3. Creates indiscipline / SIIRITG -l Ual ST 3 |
4. Is a waste of time / THI ﬁaﬁm %l

Correct Answer :-

« Clarifies subject matter / [AS T ) TF Hl gl

24) Needs which grow stronger when unsatisfied are called: / SFHGSE B4 U HSIgd G- aTell STARGHTS A Hgard g:

1. Deficiency needs /B SRR

2. Primary needs / IO STl
3. Growth nceds /q@mﬂé

4. Being needs / 3{Tdd SRId

Correct Answer :-

» Deficiency needs | B SR

25) Who proposed the theory of observational learning? / Weroftg siftrma &1 Rigia fam Wm"

1. Ivan Pavlov/—“q"aﬂqﬁ?ﬂa
2. B.F. Skinner/§1.0W, R
3. Aaron Beck / 311—87‘[ a?ﬁ

4. Albert Bandura / W

Correct Answer :-

« Albert Bandura / §GRT

26) A scoring guide use to evaluate the quality of students is called: / BT 1 VT BT YedTH= B P 1T STAATH B ST

aTeht U W ITT gs e S 3
1. Checklist / I feRe

2. Rubrics / Ffsied

3. Rating scales / 7T e

4. Inventories / $dfcH
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Correct Answer :-

. Inventories / S1dICH

27) Both pleasant and unpleasant feelings are associated with ./ g9q 3R 3 =Y HTgATe ﬁ@'&ﬁ'&ﬁ?ﬁ
gl

1. Double approach — avoidance conflict / % 'e’f@'&foT - t{ﬁ‘g{[’{ “\EFEIET

2. Avoidance - avoidance conflict / qﬂ'ﬁﬂ? - UF\’%'NW

3. Approach — approach conflict / =¥ - =P e
4. Approach — avoidance conflict / @I - IRER g

Correct Answer :-

« Approach — avoidance conflict / =Bt - uRer Tad

28) Authentic Assessment is a form of assessment in which: / UTHIOE Sfipa e &l Th =g % forad

1. Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. /i;ﬁ‘faa‘ra'm%gﬁm

& BT D1 HRA & oL BT A1 8, S SHTaID I SR BRI P A Sy HI UG Rid Hd &
2. Students results are compared to hypothetical average student / W%Wﬁwmﬁm m@ﬂ@ﬁﬁﬂ?ﬂ%

3. Student performance is measured against a fixed set of predetermined criteria or learning standards / BT & U&= &1 gd RYiRd AMCS! a1 WRed &
THS! % T T Ye & fawia A o §

4, Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to instruction / ﬁrwmﬁmmﬁ@,

HHNRE!, T 3R e B e d g RufRa e

Correct Answer :-

« Students are asked to perform real-world tasks that demonstrate meaningful application of essential knowledge and skills. /@rﬁﬁﬁwﬁwgﬁm

& BTl B A & T 5T T R, SN SIS i SR B F Wl STy 1 e fRfa oea §

29) CANCELLED

Classical gestalt theory was put forth by: | TR TReTee Rigid Ha Rt wd foam T T
1. Thorndike / YTHSTEH

2. Kohler / ®1EER

3. Piaget / s

4. Pavlov / UId@Id

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance / FEARIREAT # & $H-91 PR faereag & wezi= &
T B THAT 3T Gl B THIfAd Har g2

1. Parental education background / HIKTT-TUdT & TR1& Bt qg’li&f

2. Physical strength of child / &<dl & RIRIR HeTggt

3. Teachers contribution in learning process / W mf{ ﬁf&ﬁﬁ[ EEIH‘ITIE{H
4. Social Influence on child's learning / TP Y R NG THE

Correct Answer :-

« Teachers contribution in learning process / SiferTa ufdsar & Rrefel &1 arrer

Topic:- General English(L1GE)

1) Fillin the blanks with the correct option in the given sentence:
Most plant species are not adapt -- to a desert environ--.
1. —-ive ... -ment

2. -- able ... -- mental
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3. -- able ... -ment
4. --ion ... mentally
Correct Answer :-
e --able...--ment

2) Fillin the blank with the correct option in the given sentence:

A person of little or no importance is a --entity.
1. non--

2. trans --

3. uni--

4. dis --

Correct Answer :-

3) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

What helps fleas to jump very high?

1. They are naturally born high jumpers and take off like a plane.

2. They are not insects that jump very high but rather move very fast.

3. They have short front legs and very long rear legs and get ready to jump.

4. Their rear legs have huge thigh muscles and their joints have a protein that helps.

Correct Answer :-

o Their rear legs have huge thigh muscles and their joints have a protein that helps.

4) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

How is it impossible for anyone to detach themselves from fleas?
1. Fleas attach themselves to the skin of the animal.

2. Fleas have little spines that stick into animal fur like Velcro.

3. Fleas can jump very high and land on the same animal.

4. These insects are very clever and have a thinking mind.

Correct Answer :-

« Fleas have little spines that stick into animal fur like Velcro.
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5) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

What helps fleas to emerge quickly as adults from being cocoons?

1. The eggs are large enough and can be seen without the help of a microscope.

2. They hatch immediately and transform themselves into cocoons.

3. They are warm inside their cocoon and can emerge as full adults after only a day.

4. They can identify warmth, movement and carbon dioxide in exhaled breath.

Correct Answer :-

» They can identify warmth, movement and carbon dioxide in exhaled breath.

6) Read the passage and answer the question that follows:

Fleas are perfectly designed by nature to feast on anything containing blood. Like a shark in the water, fleas are ideally equipped to do what they do,
making them very difficult to defeat. A flea has a body covered by a tough, tile-like plate called a sclerite. Because of these plates, fleas are almost
impossible to squish. These are also waterproof and shock resistant, and therefore fleas are highly resistant to the sprays and chemicals used to kill
them. Little spines are attached to this plate. The spines lie flat against the flea’s thin, narrow body as the flea scurries in search of food. However, if
anything tries to pull a flea off through the hair coat, these spines will extend and stick to the fur like Velcro. Fleas are some of the best jumpers in
the natural world. A flea can jump seven inches, either vertically or horizontally. They have very long rear legs with huge thigh muscles and multiple
joints. When they get ready to jump, they fold their long legs up and crouch like a runner on a starting block. Several of their joints contain a protein,
which helps catapult fleas into the air as they jump. The adult female flea mates after her first blood meal and begins producing eggs in just 1 to 2
days. These eggs can be seen with the naked eye. Shortly after being laid, the eggs begin to transform into cocoons. In the cocoon state, fleas are
fully developed and will hatch immediately if conditions are favorable. Fleas can detect warmth, movement, and carbon dioxide in exhaled breath,
and these three factors stimulate them to emerge as new adults.

Why are fleas considered impossible to defeat?

1. They can jump very high.

2. They run at an enormous speed.

3. They are well outfitted to feast on any animal blood.

4. They are too tiny to catch.

Correct Answer :-

o They are well outfitted to feast on any animal blood.

7) Read the sentence carefully and choose the option that has an error in it:

Which was the best of the two books?
1. best

2. Which was

3. the

4. of the two books?

Correct Answer :-

8) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone cither...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.
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The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why do you think the rider of the Pony Express had to change horses every 10 miles?
1. The rider would get tired of riding the same horse.

2. The rider had to reach the home station quickly.

3. The horse was ridden fast and would get tired.

4. He had to take his mail pouch with him on the horse.

Correct Answer :-

» The horse was ridden fast and would get tired.

9) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone cither...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why did people rush to California in the 1860s?

1. Gold was found in the state and everyone wanted some.
2. The Pony Express was founded in the state.

3. It opened the way for new communications.

4. It was a place for new settlements.

Correct Answer :-

e Gold was found in the state and everyone wanted some.

10) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone cither...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from onc place to another. The trail that they rode was around 2000 miles. Most pcople would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. Ile would only
take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Thercfore, most riders of the Pony Express were tecnage boys and they rode at a fast pace...up to 100 miles a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Why did the Pony Express begin?

1. Ponies were the fastest means of transport.

2. America had a lot of ponies and made good use of it.

3. There was no telephone or trains and no means to get or send news.

4. There were many wild horses roaming the countryside.

Correct Answer :-

¢ There was no telephone or trains and no means to get or send news.

11) Read the passage and answer the question that follows:

In 1864 gold was found in California. Thousands of people rushed there to get some. Many people liked living there and decided to stay on. But there wasn’t a whole lot to go on
because the train service had not yet started as the railway line was incomplete. There was no phone either...so what do you do if you wanted to get a message across to a distant
place...? Well, you used the Pony Express.

The Pony Express was the fastest way to get news from one place to another. The trail that they rode was around 2000 miles. Most people would be able to travel that distance in
about 30 days....the Pony Express did it in 10 days. It had 184 stations along the way about 10 miles apart. The rider would switch to a new horse at every station. He would only
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take his mail pouch with him. After completing 75 miles, the rider would get a home station. It was tough to ride the Pony Express. For the men who rode the horses, weight
mattered. Therefore, most riders of the Pony Express were teenage boys and they rode at a fast pace...up to 100 milces a day. The ride could be rough and dangerous as the native
Americans attacked them continuously. The Pony Express was able to fulfill an imperative need at that time.

Give a synonym of ‘imperative’.
1. Trifling

2. Trivial

3. Crucial

4. Inconsequential

Correct Answer :-

¢ Crucial

12) Choose the appropriate tense to fill in the blank in the given sentence:

I the book that you lent me. I have got another 80 pages to read.
1. have been reading

2. has been reading

3. had been reading

4. am reading

Correct Answer :-
« have been reading

13) Fillin with correct determiner in the given sentence:

My brother does not drink coffee.
1. few

2. alot

3. much

4. many

Correct Answer :-

* much

14) Rewrite the following changing the active sentence to passive.

Seema informed me about her late arrival.

1. I has been informed by Seema about her late arrival.
2. I was informed by Seema about her late arrival.

3. Iinformed Seema about her late arrival.

4. About her late arrival, I have been informed.

Correct Answer :-

» I was informed by Seema about her late arrival.

15) Choosc the right tag:

Add some more milk to your cereals, ?
1. would you

2. wouldn’t you

3. don’t you
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4. doyou

Correct Answer :-

« would you

16) Choose the right tag:

He is coming here today, ?
1.isn't he

2.is he

3. has he

4. doesn't he

Correct Answer :-

e isn't he

17) Choose the appropriate prepositions for the given sentence:

A waterfallis a stream ______ water that drops straight a high point.
1.in .. out of

2. of ... down from

3. of ... through from

4. for ... out from

Correct Answer :-

e of ... down from

18) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a shortage of books at our library.
1. surfeit

2. paucity

3. opulent

4. undersupply

Correct Answer :-

« surfeit

19) Choose the appropriate conjunction for the given sentence.

Upendraistaller____ Arun.
1. that

2. till

3. though

4. than

Correct Answer :-

o than

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

Anil bagged the best conduct award.
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1. The best conduct award is bagged by Anil.
2. The best conduct award was bagged by Anil.
3. The best conduct award has been bagged by Anil.

4. Best conduct award was being bagged by Anil.

Correct Answer :-

« The best conduct award was bagged by Anil.

21) Choose the appropriate option that rewrites the given sentence in indirect speech.

Khushi says to Swati, “When are you going to Kanpur?”
1. Khushi asks Swati when she is going to Kanpur.

2. Khushi asked Swati when she was going to Kanpur.

3. Khushi asked Swati about going to Kanpur.

4. Khushi questioned Swati about Kanpur.

Correct Answer :-

« Khushi asks Swati when she is going to Kanpur.

22) Choose the appropriate tense to fill in the blank in the given sentence:

Yesterday while I inclassI______ the hiccups. My friendtold me _______ my breath.
1. sat, got, to hold

2. was sitting , had got , to hold

3. was sitting, got, to hold

4. am sitting, got, hold

Correct Answer :-

« was sitting, got, to hold

23) Choose the appropriate synonym for the highlighted word in the given sentence.
It is important for a driver to have a valid Driver’s License.

1. significant

2. creamy

3. trifle

4. consider

Correct Answer :-

« significant

24) Choose appropriate articles for the given sentence:

Experts believe that by twenty-first century earth’s supplies of gas and oil will be largely gone.

1. no article required ... no article required
2. No article required ... an
3. the ... no article required

4. the ... the

Correct Answer :-

e the..the

25) Choose appropriate article for the given sentence:
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_____Bibleis a holy book, which teaches us the way to live a good life.
1. The

2. No article

3. An

4. A

Correct Answer :-

e The

26) Choose an appropriate modal for the given sentence:

Harini is late. She ______ have forgotten her way back to the new hostel!
1. should

2. can

3. shall

4. must

Correct Answer :-

27) Choose the most suitable pronoun for the given sentence:

A big pendulum clock! is what I want.
1. Those

2. This

3. Their

4. These

Correct Answer :-

o This

28) Choose the option that substitutes the given phrase appropriately.

The fear or hatred of books
1. Bibliophobia

2. Bibliophile

3. Bibliomania

4. Bibliography

Correct Answer :-

» Bibliophobia

29) Choose the option that best explains the highlighted expression:

She would go to the ends of the earth to save children.
1. to fuss around

2. walk with her children

3. to do everything possible

4. doing nothing possible

Correct Answer :-
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» to do everything possible

30) Which of the following options best combines the given sentences?

Three people were injured in the blast. It took place yesterday.
1. The blast, yesterday, three people were injured in the blast.

2. Three people yesterday were injured in the blast.

3. Yesterday, three people were injurious in the blast.

4. Three people were injured in the blast that took place yesterday.

Correct Answer :-

» Three people were injured in the blast that took place yesterday.

Topic:- General Sanskrit(L2GS)

Y geliehl afscar renfAfeterd weeed AR FIId -

3R o1 W] faEaAerdeT i |
IR faeaATdgdr latAfed #ear: ||
faeet: g1 geRfT ufdeegam: |
YR AlcdFHoTAT o TSt iod ||

TT STHEHY dcdl faegfd AR |
T qdehc ha hARHIITTHI ||

f e Y e N

AT Tdeeid |

UY:
1 Wﬁ-
2. ?ﬁ:
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eeliehl afScar srenfafevery Ieaed YeHcal I -
31 Siifad dieh 3TN geideT |

31T qerTRd tddifdeay e ||

el oT3r: FRIT fagel: et Torast: gl ol |

IMRTTATT W TeG-1T TIIPRIT T {81 ||

BT UGET YATIUGH 31T SGHTE |
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UR=de focar UeaEy ‘\g&ﬂcdi AT -

EAT: STed 2R2 dH I UTer 317ad| 3TEAT: fUAT Sargene: AT T
HHGAT | er§de|i T SaTglallel: Fdcoraus ¢ fAfhcar
3T | el ST T AT TE o NS | AT 3T TTUSAAIREY
TehiEA Tdearerd fhf>ecenrel Atad eMfod folehcaree!
faeasRdiiaeatacarery = 319ac| Iar 238 TH I Sfarglelrer:
ITAATCAIGH 37137 darl Slead d&d U I 31e7ac| AT Ag®
HEIGIET GBI Al ATeleglgy AT AT TAATTTIGH
3fefeperdlel| Tal Al $feedl el el Td TERUACTIGH TTCeldcil|
3ET: Ofd: RISt ITTeell FETeT: A8e: Teed: 3| $feemr: adf g3t
TSl TATATH| 3T 26l TH I Gt el IRl 37T,
fohr 2q¢o TH ¥ Yol TI T Seear GUTHATTuGH s 54
T TooTgET GaXOleT Mehlhell 31T TG hdeduTelaldc il 3T &
god! 2_¢y TH aY I 3¢ TEATSeh SUH Il MTcTepia:

[CEE R

SaEyET GiEt Tal-

o A\
IHdlgeniKigell
[l

1.
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TR=de UTocal J2AEd ‘\’;'S\chdi gIAd -

3T FEISEAET SIedl R0 IWIEE, 2’8y T I FFIYATH 3Herad| 3T
Oar s el AT @ AFdr Sload el EdE| & & Serfd Id
sfeer AHAd: STaetareey Y31 3| Tsilaed URiFeTehr faT feeell
TN, SEUSHIR o 3THAA| 3TURIGTY 31 $9lUS o8 aTcar fefareT
HeIfdeATer TarHeTd | fAETA-dl TR Ufdfided 31 faameTelehue
ufdfSad: 3is1ad| 3T faaTe: AHAEATARIT Feiferde] HAMT T 3e7ad|
3T Ueh: Y 3T TEeT:, ThT T ol 3ea ST Jar
AIGHCATITH 31T hieAss: 1T HoldeTeell HgAUNETd: dal 31 gmeTas

L )

GedT HITHET: TaTadd: 3787dc 3¢ 3TFciay 2’¢y dH ay Teiaed
AT HARAET TUTTHAT 3IATGIe: MTelhIis: gdarl dar 2 Jsia:
TEITAAT 37T | Il TS TEAT U 31 To: TAHA TG

UfATsad: | UsSle-Uc ey, 3EaH-YGRY I FHEIRT: AT shedl 373
TEA: IRIAT: SIA:| 3T AYIS, MicdoT:, FHITd, Teaad THd|

TY: Jeladeel Agleaey fudr -
_ Sifar e

, o AeedT

| FGTCAT IMeft

, Tt el

Correct Answer :-

. TS ameel
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gellent afScar renfaféted ueaaed qgH el Taad -
31T Shifad ofie 31FEeR a=iilae |

3TN JERIeT aeidhifdead Rerd ||

el o731 TG fagst: T Torast: shgatiat o |
IMRITAT Gl deGo16d TIYPRIT AT {817 ||

Tacet adi fastcar: srafed |
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TR=de UTScar g2aEd ngngcdi T -

3EAT: Sl A 2R20 dH aY UART 377dc| 37EAT: AT SIdrgelrel: AMAT I
hACCAY 3T TELI0M haell SIaTeelrel: Facaelvs o RAfhcard
I dal SfeeT 3T A g a9 TS| UL 5T AUSHAAINED
TehEHe] Tacdrerd fhfoacahrel ATdd Qnfed sldhdetee!
faeaaRdiTdeaiacarery o 319oc| Iar 2386 dH aF Sfargelre:
UITAATTAIGH 31T dal Sleal d&d U HEIIeT 37e7ac| AT 5gw

HEIGIET CEIaHTeATeTe o A SlTeldgley ATEAT ST TeleiH e TuGH
3Tefhciare| dar A $Teadl Mot el Td TERUACTIGH UTCeed|
3rET: ufd: ST dTeell AGIHRET: §dG: HeEd: Il Sfeadar: gdl g’an‘
TSlladsordl AATATH| T 2R0L dH aY ShasT ITel IIET 37874,
fohed 23¢o ad a¥f Ueh: I TI ofeedl YereiaieIueH Telerd| 5
TR Tl e GHLON dlehiehell 3ifT TG holcdUTolalccoNT 3ELAT| &
god! 2’¢y¥ I Iy 3aciel 3¢ &g 59A 3uarfear Mo te:
feaHa=ad|

sTeaxmmeel Fel feaaemd?

2. E '
, Tawrersie
, 3Tl INTelehrfa:

Correct Answer :-
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eellenl afScar srenfafesesy Teaed YeHcc A -

3ReTd o W] faeaTerdet =i |

UReY TaeaAfagdr [a@fed HeaT: ||
e g: gﬂ?ﬁuf&srudﬂdlz |

YR lcdHoTelT o TRcISTiod ||

AN N\

AT JTAedY dcd! faeafd AR |

T T8t i el RHeTen ||

a C

IcdAST: Tdd J IRISlled |

U H
1.

Yoliehl UfSear STATETeR Tt Ygecal A -
31T Shifad o 31T eerailaet |

31T aerIRe i fdeaa e ||

el 8Tsi9r: FRREY Tl et Toradr: e o3l |
TRIIAT, Weldeeeted TUYHRIT Tl fFe7eT: ||

3R Ud &ad: |

Sgdiaet
33
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eTThol

4.
Correct Answer :-

10)

o= IfScar TesaEd %;xgagcdi T -

3TEAT: oA 2R20 dH I¥ UATel 7Hdd| 3EAT: AT STareelel: AT o
heelied! HTHI| SEI0N Phafell STalgleler: Fageravs ao Rfhcard
3TTAA| dal STeeaT 37T anr wE o 3Bl UL T FTUSAAINES
TehEHs] TaeaTerd Tehi>centel ITad eMied sldhdeTeel
faeaaRcifaeatacarery o 379ac| Iar 2’86 TH I Sarglelre:
TITAATCAIGH 31T dal Sleadl d&T T HEIIHT 31e7dc| AT Jgw
HEIGAET CEIEHETed# AT dTelagiey AFE HRAET TTTH e Tuas
3felepcarel| el A Sfeedr Mol Fae=r vd JHRUHACHICH Urcdddl|
3rear: afd: e el Fgreimer: d8e: deea: 3| sfeetrar: odl gt
TSliaH>oTdl TATATH| ST 26l TH aY Gileh T Tel YT 37,
fohe 2q¢o R ¥ Uo: TTA Terd ofstal Telaa{eaues sid| 53
T Toolded GHTOIET Siehlshell 31 FdeT hdcauTeladdciT 3T | &
god! /¢y dH I N 3¢ fGeTge SIH 3G IMNTelhriar:
feara=ad|

'ASHAAT ScIF &: ] IcId: [IgTA?
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, dfear

2.
3.

4.

~

sd
CIRE
AT

Correct Answer :-

12)

eellenl afcar srenfAfesera yeaedr Ageacal Faad -

3RET T W] faEaAeTdT i |

TR faesafagdr fawafea aear: ||
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IR TlcdHSTeT of TRl lod ||

TT dTHedY dchl faeafd AT |

o)
T 9dehd & hdRATITSd ||
a C No ]

T HH hARATITSIT |
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TR=de UTocal J2AEd igadgcdi T -

3T FEEAHITE Sledl 0 3V, 29¥y oH Y FFITATH 3787ac]| 31T
Oar T3St el AT @ AT Sloaq el ed™| & & Serd Id
sfeeqr AHAd: STaetaTey YaT 3l Tsilawd URiFerehr faT feoell
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IYGHCATITH 3ET hieAss: ST ToTgaTeell FHIAIRT: dal 31 IR

GedT HITHEIT: Taafdd: 3787dc 3¢ 3TFciay 2’¢y aH a¥ Telaed
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TEMSTHAT TTA| T TIAS TEAT U 3 ToT: Tt TG
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feeel SeUseev T 3T fohaveicl?
T THSHIRAETOTH

1
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Correct Answer :-

* <ot idcar srenfAfdteey ueeed YgHc EId -

3RS o Tl [aeAsoT A |

o)

IR TAEATAgdT [alA o HEAT: ||

faeet: get: TR ufdeega = |
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o]
<
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YR AT UIT: ddTa |
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17)
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Page- 24



Page- 25



TR=de ufScar geaey ‘\’A&S\d:ljcdi T -

EAT: STeH 2’2 dH I UMl 387ad | 3EAT: AT STamelelrel: AT o
hHAACAT TN | TELION haell STaTeene: Fagerevs ot Afhcary
3TTA| Tl sfeexT 3T ansar @ a9 3P| IR 5T FUSHTINE
Teh el Taedrerd fhfsecahrel ATad Qfed sihdsieel
foeaaciiideaidedre™d o 379ad| JaT 2’8l dH ¥ SIargelre:
TAATCAIGH 37T dal Sleadl d&d T I 3797 | AT Agw
HEIGIET CgladTeATeloc{ A STeldgiey AT ST el e TIgH

3Telepetdlel| el A Sieedr et Faer vd TaRUHCIISH TCedcil|
31Ear: afd: et aeedl FgreteT: Tde: Hevd: Al sfeguar: gat g3t
TSl THATATH| ST 26l TH I STl el Il 3787,
fhee ¢eco TR A Ul T [T weeal UHICAIGH, oot | I
T FoolIEd GHTOTE QMehTehell 31T HIeT helcuTelalcciT e | &
god! /¢y T I N 3¢ TGeTSd SUH 3AANGT INTelehrian:
feaHI=ad|

36T 3SRl SieePledl =T vd THRUHAT I -

) ATTTBIGIITEAT
| TolegHe:

, TRRrSTaTeedT

., SrareXeliel:

Correct Answer :-

 SITCTTRTGIRITEAT
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Telichl Gfocar STeNfAfEteed Teaed edcel Fadd -
31 Shifad o 31TEeR Tl |

3T TAGRIRT erachiiciead feea ||

Hﬁﬂaﬁ for@y fagaT: emwr Torgar: ?gmm 3 |

IMRTTATT Gl drGoAd TIURIT AT fae1cd: ||

vd R stad: |

Correct Answer :-
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Correct Answer :-

24)

TR=3E giocar geaEy %olagdgcdi A -

3T FEEAHITE Slel 0 PR, 2yy dH I FFIYATH 3787ac]| e
Odr fh0el Meell AT o SAdT 3Teedr e S| $ o Sefd Id
Sfeexr AHAT: STaEaTeey Y31 i Tsilaed TRiFererr faT feeelr
oY, SEUSTeIR T 3787dc]| 3TARIGTY 31 $90lUS §ef arcar fefateT
AgldeATerd JaHesTd | fAeTeecl 8T idfeiged 31 fqeATTareehe
ufdfSad: 3e1ad| 3T fadTe: AiAAEATARIT Ferferde] HAMT g 3e7dd|
3T TH: G IHRA TEel:, T T Fodl 31Ted TUATSRTI Iar

ARYGHCATITH 36T hiATS: AT HoTIaMeell FHIAUNTA: dal 31T IRTI

Gedl HISHATART: TTHId: HAAdI3¢ IFCIIL 2’¢y aH a¥ Ielaey
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JAIHAAT 37Had| dAdlel IId SgAd I 31T ge: TeITH e S
o]
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1
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fOq: MO

3

dAld: AVledodsH

4.

Correct Answer :-

eelleht gfScar srenfAfesed ueeed Ygaccl A -
3 SN ok 3TFEeR eraritae |

31T THeRTRT tedhifdeay e ||

Hﬁsiaﬁ TIEY TIg<T: ATE@T Tofdar: A #ar: |

MRTGAT, WeldeeeTed TUUSRIT Tl fI87T: ||

Aol €d HAHAT ATHATET |
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uRTde Ufscar U2y %;asdgcdi AT -

3T FEAHITET Sled 0 3V, ¢9yy dH Y FFIYATH 3787ac]| 3T
Oar s aeedl Atar o AT Sleaq el Ed#| & & Serd Id
sfeaqr A STaetareey gaT 3| Tsilawsd URiFerehr fuaT feoelr
I, SEUSHATIN T 387dc]| STURIGTR 31 $9elUS Gef aTcar feferer
FglfdcATer TderHefsTd | fAeTeedl 8iRd Ufdfiged 31 fadrTdrershe
UdfSsd: 3teTad| 3 fadTe: AfAgrasar seiferde] $ATdT T8 37erdd|
3T Teh: T I G, Tl T dhodm e gl e

IYGECATITH 3T HieIss: T TFAINeell FIAIRTA: dal 37T IRTIH

GcdT T HEAT: TUTafdd: eTdc 3¢ TFciay 2’¢y dH a¥ Tehaed
AT ARATET TUIHA 3AATGIA: IfelhIfe: garl dar AT Tsiia:

YT HAT 37| oAdlel Ted TG T 37 Yol: YellefHaa U
o}

UfATsad: | Usla-Ue ey, 3EAH-YGR I AR AT shedl 37
g AR SIcT: | 37 FH, Mfeafvrr:, A, Hegaed JHld]

‘AT’ ST 3T UcId: safd-

Tadf acTey:
2. o] o]

_ Sfadr dege:

4c’rmft‘raFgw:
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Correct Answer :-

d7i?ﬁ'ETFg?FT:

28) .
eeliehl afdcar srenfafevery Teaed Yeaccl AT -

1.

3.

4.

3RS =T Wof TaeAseT ol |

o]

U [deATdgdT TalHTod FEAT: ||

faeet: ga1: g ufdeega: |
YR AlcdHoTdAT o IRcIsTiod ||

Tl FeTHe Y Icdll faeafd AT |
2T Yol e hlNHTITea d ||

fIETsAeT UY: o A IRETT |
AT

Correct Answer :-
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TR=de UTScar UeaEd angdgcdi I -

3T FAGIISAET SIed 0 IPIEE, 2’8y T I FFIYATH Herad| 316
Oar s el AT T AT Sloay el 3| &l & SAelid Id
sfeeqr A1Ad: STdTetaTeey GAT 3Rl Tellaed URiFerhr et el
TN, SEUSHIR o A | ITURIGTR 31 $9elUS &8 aTcar fefadr
HARIdeATer JaRrHelsTd | fAeTelea $Rd idfdcd 30 faameraresus
ufdfSad: 3rs1adl 3T faare: MiHAEfARaT $erferde] FAT T 3e7ad|
3T T T T Wger:, Tl T Fodr ATed s Fa

AIGHCTATH, 31T hielss: HIdT oAl HIAUNET: dal 33 greTas

L )

GedT HITHEIT: Taidd: 37dd (3¢ ey 2’¢y aH ay Teliaed
AT ARAET IHAHA 3aariara: Miceniia: garl dar AT Tsira:
TEMTHAT TS| oA TAS TgoAd T 30 To: TeTHeAl I
AfAfSsd: | Tsolea-USey, IRAE-YCRT I HHTIAT: HATT hedl 37
TG FNHTUA: ST | 37T FYIHAI, Mo fOrr:, AT, Heeaed I

ToiaeT Adameg: oy: 31&d-
1.346k4ﬂ IMTeedT
| FHTIG:

, TSt ameelr
4, I ”E;[E”EI:

Correct Answer :-
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TR=de UTScal UeaEd Qg&gdgcdi A -

EIT: Sl A 2R20 dH I YART 37e7dd| 31EAT: AT SIargelrel: AT I
hHAGA! I | gL el STdglellel: EIcoelUs gl Ifdhcars
I deT Sfoedr 3T dredl ¥ aF 30esd| YA $T oUSeeINEY

Teh [ EHe] Taearerd fhfsacanrel arad enfedisidhdsies
aeaaRdifaeaiaedrerd T 9ol Iar 2’8l & Iy Siarelerd:
TITAATCAIGH 3TeTeTd dal Sleadl d&d W FEIider 3iHddl AT Agw

HEIGIET CEIaHTeATeloc{e A SlTelagley Al ST i e TIGs
3elepctare]| dar A Sieed et T Td TaRVHTTTIGH UTCeecil|
e afd: RIS el FETeteT: T¥e: ded: 3| $feetrar: edl gt
Tolladsordl AT 3T 2R06b dH aY SlehasT el T 3Tdd,
fohrd 23¢o T a¥f Ueh: T [T ofeedr yureTAleTIeH Tolercl| 59
I FooTgEd GAROleT MehThell 31T TG hdcTuTelaldc il 3Tl &
god! 2’¢y IH Iy acle 3¢ BT 53A 3aarfear Ml e
feareTead]|

SfeePTTeell HETHIRIT: STeATATATHGHEd-

YT

Topic:- Science (SCI)

1
) Find x, y and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
A G are gred AT FHieRoT A fAERAT R IcAEl & ;AP h Fedr v
gfafafaca &t arer x, y3~ﬁ'{' z AT &
Fes03 + xCO 2> yFe +zCO:
l.x=1y=2 & z=1
2.x=3,y=2 & z=3
3.x=2,y=3,&z=2

4.x=4,y=3 & z=4
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Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /

gfe eaf @ U wienw @ w8, @ dr g @2

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
HIETH 3 B, T & TR B &= P ead RIFAIRA 81 81

2. The particles of the medium remain in the state of rest./
HIHH & U fASTHTErRA 8 T8d 61

3. The particles of the medium make to and fro motion about their mean position./
HIEH & HUI, ITeb] HIeA RN & THIT geRIeR- TIfrefier 1 81

4. The particles of the medium are also propagated. /
Hem & o7 ot TR B B

Correct Answer :-

« The particles of the medium make to and fro motion about their mean position./

HIEOA & HUI, 391 A1 RS & T 3eRSeR- Mla=fa g1 81

3) What are the common fishes selected for pond culture systems? /

AreTe ate vonferal & fore wafera @Y 7 g woferdl st g2

1. Sharks and rays/w AR

2. Sardines and mackerals / TS SR AHA

3. Mullets, bhetki and pearl spots /'D{(eﬁ:ﬂ, e 3R Ud Wie

4. Catlas, rohu, mrigals, common carps and grass carps / Pcdll, @E, HiTd, A Y SR T B
Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps [/ Cdl, ﬁ-g', HITd, AT BT 3R I 1Y

4) The phenomenon responsible for the twinkling of star is: /
AR} B fewfenmee & forg Swverd e :

1. Dispersion and reflection / UdRR 3R WRraed

2. Reflection / TRTA

3. Atmospheric refraction /HTEII?:—Q_'ﬁq KGR

4. Dispersion / UIR

Correct Answer :-

« Atmospheric refraction /aTﬂTE?ﬁ'q K CRE]

5) Which one of the following diseases is almost eradicated from our country? /

Frafulea & § o s &) R 3 @ Ty T wR e T g
1. Dengue / ST

2. Malaria / AQIRAT

3. Encephalitis / TTh Y

4. Poliomyelitis / TTerAT

Correct Answer :-

. Poliomyelitis/fﬁm
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6) The hotness of an object can be measured by its ./
el avg &t THige Bl Iu R HIYT ST Hhar 8
1. volume / 3AdT

2. Temperature / dIYH

3. Size / S[HR

4. Density / Ycd

Correct Answer :-

« Temperature / dIYHT

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

T Ugerd & e Bt Mg T 8¢ ¢ S 1 srafe 8
1.05s
2.25s
3.1s

4.01s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5 seconds. The acceleration produced in that body is: /

10 T IT SroqwT= &1 U (Ib1a, 10 Me/Ads & T THE 1 5 s & 1w e A wag F gwiaw nfashia 21 39 fem g

WTET‘T RUT %:
1. 0.5 m/s?
2.2m/s?

3.0 m/s2

4.50 m/s?

Correct Answer :-

9) Complete the statement with the correct option given below:
Matter is anything that 3
i o 7o el ® & 9E fasew goa Ty &1 guf a3
i ag e Wit
1. occupies space and has a definite mass. /

R WAl 8 3R FSrgep1 U e sroa g 81
2. occupies space but has no definite mass. /

VM BT § Afb 31 Bis AR goomm T Sar g
3. exists as a solid with a definite mass. /

T FIf3d S & 1Y T 31 & =9 § AIeG gidl o

4. has a definite mass and a definite shape. /

T AT goamm vd T fRfdd PR w1 gl 8l

Correct Answer :-

« occupies space and has a definite mass. /

RIF AT § 31K forresT e fAfEd soaum g g
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10) Select the appropriate metal to be used to change the colour of an aqueous solution of CuSOy4 from blue to colourless along with a red

brown solid getting deposited. /

cuso4$w§§uﬂ,ﬁmﬁ'm@W%ﬁvmg&n%a@rsﬁawﬁmaﬁ%w%WW%WWﬁﬁaﬁﬁm
g BT T B |

1. Silver. / TTe
2. Gold. / Gl
3. Mercury. / URT
4. Zinc. / ST

Correct Answer :-

o Zinc. / SRl

11) Sharp edged metal pin will go easily into the wooden board because: /

A R aTelt urg @ U St & el & S W g wmedt wilfes:

1. As area of contact reduces force increases / G &7 HH a%[ IJ9d dedl %I

2. As area of contact reduces force decreases / AU% &5 HH g 4 g6 FHA QI ¢

3. As the area of contact reduces the pressure reduces /% &7 BH EH Q T9 $H BT 8l
4. As the area of contact reduces the pressure increases / TU® & BH g ¥ ¥ T 8

Correct Answer :-

- As the area of contact reduces the pressure increases / U@ &3 HH 811 ¥ <19 gedl 8

12) A screw gauge with zero correction gives the following reading when used to measure the diameter of a wire. Pitch scale reading = 0 mm
and head scale reading = 52 divisions. Given that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire from
the above data is: /

T GUR & 1Y Th TF I U dR & AT B 4199 & fore Suaivn & ol o wR Frafeafaa $f$n dar @1 o amge df$m = o finft siz
& A T = 52 W | feur a8 % ger arue &1 1 o, ¥ Aue & 100 WS & S € | SWITd YT | TR 61 A 8:

1.0.0052 cm / 0.0052 e}
2.0.052 cm /0.052 THt
3.0.26 cm/ 0.26 YA
4.0.52 cm/0.52 9l
Correct Answer :-

« 0.052 cm/0.052 I

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long. The green material is a mixture of: /

T4 TS 19 BT U A Y TP TS ATaTaRVT H IGa1 8, A SH UR TP §¥ I $I U S 1t 8 | T8 87 vard o aeat &1 ue o :
1. Cu(OH), and CuO / Cu(OH), Td Cu0

2. Cu(OH), and CuCOj / Cu(OH), Td CuCO4

3. Cu(OH), and Cu,0 / Cu(OH), T4 Cu,0

4. CuO and CuCO4 / CuO Td CuCO;

Correct Answer :-

» Cu(OH); and CuCOj3 / Cu(OH), Td CuCOs

14) Choose the incorrect property about colloids. /

PGS b R TUIEH BT Taq B |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

FIARST S HUI qd b 8l ST 8, 9Id b [P I3 Wi -Te] B1S fear ofa 8, gt plagsd faaa H1w! RR Za g
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2. Colloidal particles are not visible to the naked eye. /
PSS B I S B ferars a1 3 B

3. The size of colloidal particles lies in the range 10”7 —10" cm /
BIFS Ul BT ABR 107 105 Ff. B A A FTAE

4. A colloidal solution is homogeneous in nature /

TH HIAZSd faea UHid § Ioig g gl

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TF HIARsd faaay Ui § I g g

15) Identify an isotope used as a tracer to detect the blood clot in human body /

AT YRR A I & 4T BT Udl T & 7 T 3R & w0 8 7 g a1dl U TORAE 3T Uga= Y|

1. Uranium — 235 / XG0 — 235
2. Todine -131 / 38 — 131

3. Sodium — 24 / NSTH - 24
4. Cobalt — 60 / BIFTT — 60

Correct Answer :-

« Sodium — 24 / If&TH - 24

16) The product formed when iron reacts with steam is /
e 3R AT srfiferar & a9 g I §:

1.FeO

2. FeH

3. Fe;03

4. Fe304

Correct Answer :-

. FE3O4

17) The role of decomposers in the ecosystem is /

ufefRufa @ & sroaeat ot 3T S @

1. They do not act on organic compounds. /  BIEAD AHT R BT T8l |

2. To convert inorganic materials into simple forms. / SHBTD Tardf BT Wa Ul & uRkafdd S|

3. To convert organic materials into inorganic forms. / DD gerdf B sipreiA® wul § uRafidd H1l
4, To convert inorganic materials into organic compounds. / 3@TE® TeTd! B Hei-® e & gRafda 11

Correct Answer :-

» To convert organic materials into inorganic forms. | BTEFE UG &I SbTaie &l § uRafdd Hel

18) The lightning arrester helps: /

afgacargefim Auw 9§ Aeg Hrare:

1. To store the electric charges at the time of lightning /
afed & W faggd Smasi & Sugid Hea H|

2. Dissipate the electric charges in to the atmosphere /

fagga smaxii & argHsa & BlsA Al
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3. Avoid the production charges on the clouds /
Srecl J A & IdeT T H |

4. To transfer the electric charges to the ground /
farqga amawl @7 yf# § RFIGRT B HI

Correct Answer :-

» To transfer the electric charges to the ground /
g oA 31 ity & iR S A

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs for 10 hours per day in a month of 30 days? /
30 foit & was WA F w3 10 92 & Rorw 5 a1 & < Il & v A fretiare vet & fraeit figga St 95t wua gkt 32
1. 15 kWh

2. 150 kwh

3. 15000 kWh

4. 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgSO4.7H,0

[Atomic masses: Mg=24u,S=32u,0=16u, H=1u|/

MgS0,.7H,0 & T §PTs SAHI $I 0T HY:

[URHAI] SSHHT: Mg=24u,S=32u,0=16u, H=1u]

1.286u

2.232u

3.246u

4.198 u

Correct Answer :-

e 2460

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The kinetic energy of the bullet is mainly converted in to /
Fgo A el R M R T Fufia aodt & 91 w it g el 21 vive 31wl Swi ger wu S gaw uikafd g e @
1. Only Heat energy /WWW

2. Kinetic energy for the wooden board /W%ﬁé%mﬂmmﬁ

3. Only Sound energy / e & Sl

4. Sound and heat energy both / a3 3R FHoAT Frolf ST

Correct Answer :-

« Sound and heat energy both / ¢ 3R SHSAT Solf ST

22) Ina sunny day, when the atmospheric temperature is 370C, the temperature inside a car, which is parked on an open ground is: /
TS YU 9T 3 §, 5 argrs g arew 37° ARTaw giar €, df U 1R & 8ick &1 dvdH, il gt A # @9l 8, e g
1. Greater than or equal to 37°C / 37°C & SRTSR AT 3HfYH

2. Equal t0370C / 37°C & &RI&R

3. Always greater than 37%C /370 ¥ 3ifrm

4, Less than 379C /370C § &1
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Correct Answer :-

« Always greater than 37°C / 370C 9 3{fd

23) In a filament bulb the electrical energy is converted into: /

s fhamie go (dq go) 7 fagga Suf &1 gaw uivafda fear wmar g:

1. Chemical energy / IS SHelt

2. Only heat energy / FHad ST Sl

3. Only light energy / ae YT St

4. Light and heat energy both / UPIRI AR ST el Gl

Correct Answer :-

« Light and heat energy both / UpIRI 3R ST et gt

24) What is the valency of Carbon in Mcthane? /
WA & FTe I SAerewar frait 32

1. ValencyofC=2/C3ﬁwTﬂa°—dT=2

2. Valency of C=1 / C D! Gt = 1

3. Va]encyofC=4/CaﬁWW=4

4. Valency of C= 3/C ! HaNdHd =3

Correct Answer :-

. Va]encyofC=4/C3ﬂWWT=4

25) Which among the following is a mixed anhydride? /

frafifaa & & w1 te fifia TeEsEs @2
1.CO,

2.N,05

3.50,

4.NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /

fFrafafaa & @ wr sm Yeru & frg Rz Sy 8l @2

1. Chemical method / RIS fafd

2. Fumigation / 'ifﬂ

3. Plant products like mineral oils / &S ael S UIEY ITG

4. Cultural method / HIE"%EF fafer

Correct Answer :-

« Cultural method / ?ﬂ@ﬁﬁﬁ fafy

27) Which of the following is a bietic component? /
Frafafed & § oH-91 1@ Jfaw vew 32

1. Air/dig
2. Water / SIcl
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3. Soil / Tl
4. Living things / Sfifad awqa

Correct Answer :-

« Living things / Sitfad a¥gq

28) Which of the following is a chemical effect of electric current: /
o & & w1 fagga vare @1 IS yuEa
1. Producing a magnet using electric current /
fIegd aTg 1 ST FR% TP Y9 I AT
2. Producing heat in an electric kettle /
TS Salldee ol H S 3T BT
3. Producing light using electric bulb /
forSTell o Siesl T I DR b1 I HAT
4. Production of H and O; by passing current through water /

I & YRT FaIRd B Hy 3R 0, P I HIAT

Correct Answer :-
« Production of Hy and O; by passing current through water /
Tt & YR aIfed FRP Hy SR 0, BT S XAl

29) Name the property of the components used for separating salt and camphor. /

T 3R PYR B T P P 1T 71T {52 WM a1 Teeh| & qure Fargd |

1. Using separating funnel /HW BT BT TR
2. Magnetic separation /%jﬁﬁu PECER

3. Sedimentation / 3{dTGT

4. Sublimation / S efaTaA

Correct Answer :-

« Sublimation / $&daTdH

30) Discoveries, inventions, laws, theories are all related to the
A Teiftra &1

1. ease in daily living / & Sha & et

2. study of science / oI &1 Sreg

3. luxuries of life / STt & RIRERSIE]

4, satisfying human curiosity / HIFAIg Form 1 ’\:@Q HAl

Correct Answer :-

« study of science / TaRH &1 3fega

31) Not only formative but also summative assessment can be conducted through: /

9 $aa fAwfonere, afer amas smead Wt R & wrew 3 Snfea fear s aearg:

1. Homework / W

2. Question and answer sessions / U4 R IR I
3. Projects / TR
4. Self-evaluation of teachers / TRI&(hI &7 W-Heichd
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Correct Answer :-

« Projects / a3

32) The drawback of Case Study method is that it does not lead to a: /W—R'Spf fafg e aﬂ'% fruas UeH gl
P gl

1. Generalization / THATABOT
2. Conclusion / Eisay

3. Categorization / et

4. Assimilation / STHITID IO

Correct Answer :-

. Generalization / GHTIIEHROT

33) Which of the following is not a feature of Continuous and Comprehensive Evaluation (CCE)? | Frafafea FA o

Hadd U4 TS Yediop- (JIS) o fagiaar 781 @2

1. It helps the teacher to learn about the existing concepts of students. / g B Bl fllﬁj:'[[ SHIYRONS &b TR T o= H Rigres ot
RT3

2. It involves more frequent tests and examinations. / sﬂﬁ TR TRI&0 3R qﬁ&rrq gitfera Eﬁ?ﬁ %I

3. It involves repeated assessment of the same parameter. / SO Uh 33[ HAHEUS B IR-SR e Ireferd Eh?ﬂ%l
4.t is a school-based evaluation. / I8 U fIaTerd-Sema Gedic g

Correct Answer :-

. It involves more frequent tests and examinations. /Eﬂﬁ NRIGIES Uﬁ&‘fUT 3R Uﬁ&ﬂq Fﬂ‘ﬁlﬁfﬁfﬁ?ﬁ %I

34) Which of the following is not a scientific question? / fafafea g s ar Th %snﬁm Uy :Iﬁ%'-’
1. What is the density of water? / U &1 g-d fa-T %?

2. Why can we not see in the dark? / 8H 3 ﬁﬁﬁ%@m %?

3. What is meant by a secular republic? / HHIRRU& TS T o 3fef g2

4. Why is the colour of sky blue? / 3{TRTRT BT T il Y 82

Correct Answer :-

« What is meant by a secular republic? / AR Ues O T 3 %?

35) A formal event where multiple experts deliver their speeches is known as WAL SuETe® geAT SH $§
faiog oo WIOT 3, 9 H o ol B

1. Laboratory / TART=ITET
2. Symposium / m

3. Exposition / TRt

4. Workshop / SR

Correct Answer :-

« Symposium /m

36) What is the name of the satellite that was placed in the geostationary orbit specifically for increasing television-based education in

India? / S IUUE BT A A1 ¢, B URa # ehfasm-anenia Rian o gem & o iRy w0 § yRAfae sam § war mn ar?
1. ERS2
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2. EDUSAT
3. TechEdSat
4, ATS-6

Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /
Sfarfafde Hawor o1 w3 gar 82
1. Crossing between different varieties of plants. /
el F T IR & o Tdmar (BIRim)
2. Crossing between different genera. /
T2 Uil o i b (hIRIT)
3. Crossing between genetically dissimilar plants. /
AR T et el & s Hebell (shIRIT)
4. Crossing between two different species of the same genus. /
TS g1 91 b & a1 USTTierdl & il Hepll (shIIRIT)
Correct Answer :-

» Crossing between different varieties of plants. /

e ¥ fafid UeR & o daar Gpikim)

38) Assessment standards are required to provide effective science education for all. To assess teaching of science by science teachersin a

classroom, which of the following is NOT applicable? / it & ﬁl'q gt ﬁsﬂq fQT&IT PEGE P D ﬁ'ﬂz 3fiHe ATS! BI
STaRgHal gl 81 Bem H fagm Rigres! gr1 faga & g &1 s 31 & g, Fufefaa & @ o149 W Suge
TR 82

1. Parents’ view of the teacher. / RI&@ o ATAT-TUdT &I EBHI|

2. Performance report of the students in the subject. / fowg & o @) veriF U

3. Students’ feedback on the teacher. /ﬁrwmmﬁaﬂm|

4. Other school’s opinion of the science teacher. / 3= faeeal ot fagm e & IR H ||

Correct Answer :-

« Other school’s opinion of the science teacher. / Wmﬁmﬁﬁ&@%ﬂﬁﬁml

39) The factor that does not influence the formation of winds is: /

a1g frafor B guifia 7 o1 aren eRe P &

1. Presence of mountain ranges /9dd et EakepIrdin|

2. Presence of seas and oceans / Fﬂﬂ GhT WF\P[ ﬁm

3. Uneven heating of the atmosphere in different regions of the earth /g@% faftr &1 & qTaTaRur & SR ara
4. Rotation of the earth / q@ﬁ@h

Correct Answer :-

« Presence of seas and oceans / FHS| IR TRNIFRI &t Iuryfe

40) When a force of 1000N is applied on a particular surface the pressure acting on that surface is found to be 10 Pa, then the area of the
surface over which the force is applied is /

w19 et faRiy e W 1000 =g BT 99 WG 1T @ oY 39 Y€ W A aTel 3919 10 Pa UTAT ST §, <1 90 SIJ0aNT Wag 31 a6 febd-T 8t

1. 0.001 m?
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2. 1000 m2
3. 100 m?
4.10 m?

Correct Answer :-

« 100 m?

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s respectively. Which of the two objects have the same
speed? /

IR T3t P, Q, R Td S Tt 7Ifar o 10 1i/F, 36 famfly/wier, 18fEdt/wer oiv 30t/ 81 fF <) axgaii 1 nfd T 82
1.RandS/RTA S

2.PandR/PTIR

3.PandQ/PUI Q

4.QandS/QUIS

Correct Answer -

« PandQ/PTAQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20 oscillations?/
3o UgaH F a9 frat aR 20 et & Arer fRURY $Y IR B 22

1.10

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the ground. (g = 10m/s2) /
@ i 100 W T Furg I RRTS St 81 g 1 yfiy 9% ugem & fbawr wwa @ (g = 10m/s2)

) 2v5s

5v2s
2.

3.20s
4. 25s
Correct Answer :-

255

44) Amount of energy transferred from one trophic level to the next is /
TE T WR A AT T R A WA Sl S ae gt g
1.5%

2. 20%

3.15%

4. 10%

Correct Answer :-

e 10%
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The acid present in Rancid butter /
forpa vish weem # SufRua sra gar @
1. Butyric acid / W 3T

2. Acetic acid / TRIfC®H 37

3. Lactic acid / Qfded i

4. Formic acid / BITH® 3%

Correct Answer :-

« Butyric acid / SJf¢e 37

46) In an electric motor, the energy transformation is from: /

o R wie ¥, st ufads e g &:

1. Magnetic energy into electrical energy /W St T ﬁ?ﬁﬂ%ﬁ |
2. Mechanical energy into electrical energy / Tif® SHolf & ﬁ?ﬂ?{ Sl #
3. Electrical energy into magnetic energy / faggd Sail &I Ja@™ Sl

4. Electrical energy into mechanical energy / faggd Suil &1 Tifi® SHoif &

Correct Answer :-

« Electrical energy into mechanical energy / fagga il @1 Fifd® ot &

47) CANCELLED

Thick layer of fat called blubber is found in: /

SR ATHG I B HId) U 58 urdl STl @:
1. Whale/%ﬂ
2. Polar bear/?gfﬂq HIe],

3. Camel /&<

4, Shark / %

Correct Answer :-

. Whale/%ﬁ

48) Which one of the features mentioned below about decomposers is not applicable to decomposers? /
JTHes qATeis W E1d § 3R A gt 3 i Bea B
1. They transfer energy to the next trophic level in the food chain. /

3T e H STl Uil &R TR SHoll RN $d 8 |
2. They are also called as saprophytes or reducers /

SR Haoid! a1 AR H FeT S 3
3. Decomposers are also scavengers and they clean the earth. /

3UHed TAID H i § 3R d gt 1 I A B

4. They help in recycling nutrients. /

I UINSP YR H HaE BRA g |
Correct Answer :-
« They transfer energy to the next trophic level in the food chain. /

e e ® SATe TPl TR W ol IR $d §
49) Which of the following is not a child-centred classroom? / ﬁﬁlﬁl’@?{ 7 aﬁq-?ﬁ W-'a’T@?T BET ';Iésf %?
1. Teachers promote collaboration in learning / R1erp SHfa o WganT & Jgrar od gl
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2. The teacher is a facilitator instead of an instructor / TRI&/&® Udh uRers & SO Udh JHAID %I
3. The teacher decides content, instruction method and assessments / Rierw F{m“ﬁ, ﬁ%&ﬂ fafer 3?['&’ 3T e BT i Bl %I

4. The students have a choice to pick assignments and decide assessment criteria / B & U ?rN'IET-IﬁE' ?Jflef 3R i
TS T B3 BT fahed g

Correct Answer :-

« The teacher decides content, instruction method and assessments / e FI'FI"Zﬂ, Ao fafy 3R 3Mepa 1 vl sar %I

50) Which of the following wastes is not bio degradable? /
Frafafea # @ Fi-w1 srfe S e o Sa srawfie T8 @2
1. Vegetable peel / Tfeal & s

2. Milk sachets / g4 & Gdpc

3. Cow dung / TG T &R

4. News paper / 3@aR

Correct Answer :-

« Milk sachets / 3 & Upe

51) which of the following learning approach is considered to be a derivative of the Ausubelian approach? / Fafafead Cack:)

ST TR@®IT, SHgaferaT ef¥wIvr T S AT STaT 82
1. Experiential learning / fJHdTHS 3ffTH

2. Collaborative learning approach / TearTE® T e
3. Analogy strategy / HIEXd R BTG

4. Concept mapping / Ry At

Correct Answer :-

« Concept mapping / RIGI= AT

52) Which of the following can help the students to learn science through kinesthetic movements? / ﬁ‘}lﬁ'l’@ﬁ -k ﬁﬂ B B

nfRiadt frareit & e | fage Wem & Aee % Aol 32
1. Written test / feTRad utan

2. Debate / ATG-faaTg

3. Drama / Fllch

4. Quiz / WHRIT

Correct Answer :-

« Drama / FIch

53) If an object is kept in between the principal focus and the centre of curvature of a concave mirror, then the nature of the image will
be: /

o vl avg @) YeT Biow SR 3rade iUl & ashal & $g § @1 Sl €, o) Ofd Y wPpid gl
1. Real, enlarged and inverted / aRA1d®, 3fafifd td It

2. virtual, diminished and erect / SITHTHT, g Tad Td et

3. Real, diminished and inverted / ARId, YHTId Td Iect

4. Real, diminished and erect/ dRcfdd, Tgferd Td et

Correct Answer :-

« Real, enlarged and inverted /H'R?I'W, s{ﬁﬁfﬁaqasa‘

Page- 45



54) People of different age groups need different amount of sleep. Who among the following needs more sleep? /
faftrer omg ot & Sl B SrerT-araw A & g F eraxgwd gl 81 Fafifea § A {5 g FY vt aiftre seva gt &2
1. Child / §=dT

2. Infant / I

3. Man /&Y

4. Woman /In%?ﬂ

Correct Answer :-

. Infant/ﬁf‘«ﬂ

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on that surface is: /
2.5 m2 %1 T Hdg W HHIE: 100 N ST I ST ST 31 g TR G0 qTeT &6 o

1.400 N/m?

2.40 N/m?

3.4 N/m?

4, 250 N/m?

Correct Answer :-

« 40 N/m?

56) A teacher is trying to nurture an aesthetic sense in his students, he should encourage them to: / T Riars 3 BET

H Hiedaty BT UI0r HI BT BRI I 6T 8, I I NTod PIAT AMRE -
1. Investigate ideas / EEINEIRIEET

2. Development of models of inquiry / ST & UfHM (HISd) Bi fawfid &

3. Observe phenomenon keenly / ¥C-1 &I SHdT I ¢4l |

4. Frame questions /  UY IR B |

Correct Answer :-

« Observe phenomenon keenly / ¥CHT Cal SRl ¢

57) Which of the following would not promote active discussion? / ﬁm ﬁ' '\ﬁ ﬁqﬂﬁﬂl aafﬁ qeldl q’e?fé"TP

1. Selecting topics from upcoming tests. / ST TRi&oT & fawdl 1 o x|

2. Summarizing ideas with the help of learners at the end of a discussion. /?ﬁﬁ & ofq o Rrenfar ﬁm@ﬁmﬁ Cal
IR BT

3. Acknowledging learners for responses. / wifaferan & forg Renfial & Wier &

4. Encouraging questions as well as responses to each other’s questions. / garal ﬁm HIATTG Ty ?:f @—W & Ui BT
SaTs Tl

Correct Answer :-

- Selecting topics from upcoming tests. / ST URTeron & fqwt &1 9= &

58) Which of the following statements is false with respect to scientific theories? /ail'lﬁﬁ ﬁl&'ﬁﬁ & Wﬁﬁm |
Y B AT HYF T 82

1. A theory must be tested with rigour. / Th Rrgida &1 gedl & 1Y TRi& fooar S EIT%QI

2. Theories must follow observations. /ﬁ[@?ﬁ P ﬁ‘&rﬂﬁ DI YT hAT EH%HI

3. Theories may be expressed as an equation. / Rl &) T THienRur & U § e fohar o wadn gl

4. Predictions of theories must be reproducible. /ﬁl@?ﬁ B HiTaOrT gy TUd Wﬂ’qﬁ HT%QI
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Correct Answer :-

« Theories must follow observations. / %l@ﬁ K3 ﬁ&wﬁ DT YTt hAT I %Q I

59) A scientific theory cannot be expected to: /W'aﬁlﬁ?? Rrgia I e 1) ot St bl fp -
1. Predict all outcomes / T} TROIAT &1 EEHTI'FT T
2. Resist falsification / SIIHRUT BT faRIY B

3. Receive questioning / TSl &I U B
4. Change with time / HY & 1Y dedl |

Correct Answer :-

. Predict all outcomes / T TFRUTHI & Ugﬂﬁﬂﬁ Suief

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile. What substance is generally added to the soil to
neutralize this effect? /

PR IREAFIE ST & aifey wanT & frdh sl 81t @ Tt YA srgusTss Y il B 1 59 UHTE Y 3R e & e wrra: i
garef 1 gt o fyeman wrar 82

1. NaOH

2. Mg(OH),
3. Nay,CO3
4. CaO

Correct Answer :-

« CaO
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